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Double-track auction is a new auction mechanism for allocat-
ing multiple indivisible goods to buyers. Buyers do not only view
items as substitutes but also as complements. This is a remarkable
auction mechanism since existing auction mechanisms with multi-
ple goods can only allocate substitutes. One experimental study
with two goods and two buyers, however, suspects that double-
track auction does not work as the theory indicates due to an
existence of theoretically unnoticed price, which is called the* pit-
fall” price. This study investigates performances of double-track
auction with controlling the pitfall price in experiment. In the
experiment, two goods are for sale. Two buyers view these goods
as complement and bid for them. The experiment consists of two
conditions. One is with pitfall condition, and the other is without
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pitfall condition. The main result is that the pitfall price nega-
tively affects the performances. Achievement rate of competitive
equilibrium in with pitfall condition is lower than that in with-
out pitfall condition by 60%. On the other side, without pitfall
condition, the auction works as the theory indicates. Therefore
double-track auction allocates only when there is no pitfall price.
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Coefficients:
Estimate Std.Error t-value Pr(>|t])

(Intercept) 0.89154  0.04458  19.999 3.80E-11 ***
D1 -0.72788 0.0546  -13.332 5.86E-09 ***
D2 -0.02885  0.06304  -0.458 0.655

IRk

Signif.codes: 0
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